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As o solution . we changed our approach in the
rogramming - Insteoad of relying on +he trotation
angle of the catapult from whe rotation sensor. we
used +he encoder in the motor to measwre +he rota-
“ion angle. Bu momftof‘inﬂ the torpue. values.  retvuraed

by the motor encegder . we were ablerto oetecminedd
tne.  position of .the Catapult arm. achr'evmj the saumne
Bf‘f&&t as The'origina! rotation. sensor. .
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int rcThrow()
: £
waituntil(autoFinished || Controlleri.Axis3.position()>20);
motorThrow.setBrake(hold); °
motorThrow.spin(fwd,50,pct);
waituntil(motorThrow.torque()>0.3);
waituntil(motorThrow.torque()<@.12);
motorThrow.stop();
wait(200, msec);
motorThrow.setBrake(coast);
motorThrow.resetgasitien();
throwDown(true);
double tmp;
while(1)
{
if(Controlleri.Buttonup.pressing())
{
throwDown(false);
std: :cout<<”123"<<std: rendl;
tmp = motorThrow.position(deg);
motorThrow.spin(fwd,82,pct);
waituntil(motorThrow.position(deg)>tmp+100);
motorThrow.stop();
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wait(5, msec);
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